Division Word Problems Worksheets

1. 2,008 kilograms of potatoes were packed into sacks weighing 8
kilograms each. How many sacks were packed?

2. Samantha ran 3,003 meters in 7 days. If she ran the same distance each
day, how far did Samantha runin 3 days?

3. 1,188 kilograms of rice are divided into 7 sacks. How many kilograms of
rice are in 6 sacks of rice? How many kilograms of rice remain?
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Division Word Problems Worksheets

1. 2,008 kilograms of potatoes were packed into sacks weighing 8
kilograms each. How many sacks were packed?

2,008 +8 =251

251 sacks were packed.

2. Samantha ran 3,003 meters in 7 days. If she ran the same distance each
day, how far did Samantha runin 3 days?

3,003 +7 =429
429 x 3 =1,287

Samantha ran 1,287 miles in 3 days.

3. 1,188 kilograms of rice are divided into 7 sacks. How many kilograms of
rice are in 6 sacks of rice? How many kilograms of rice remain?

1,188 +7 =169 R5
169 x 6 =1,014

There are 1,014 kg of rice in 6 sacks.
5 kg of rice remained.
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